1. ohe % tams s gk 4.8

1 1
®\@<\/; @ 3<242 ® 3V2>2+5
1 3
@§<\/£ ® 6< V35






@ (V0.4)2=0.2

(152 =-15

@

=0.7

® (V0.7)?



8

11

o1
121

@ +0.01 = 0.0001

@ -



ok TelA AZEE ALB,C,D & 25 Aztgeltt. ¢ o Hel:
D o] Wolol 24, B o] Wol C o Wolo] 2 v, A o] Kol B o]
Ho]o] 2 ujel $A7E Stk @k A o Wolrk 4 cm? ), D
gk o] Pol?

A
B
Clp
1 1 V2
@) %/;m @ g/;m - om
@ TCI’H 7CIH



T abta+b<0,ab<0,ld < |pS HZS 0, Voo +

V(D)2 + /(-20)7 - Vab? & 74D0] oFH? (D, lal £ a o BHA

)

@ 3a+b

@ 5a4+b

@ -ba-b

B 5a-b

® —5a+b



